Public Schvol Depastinent.

EXAMINATION QUESTIONS.
HAMILTON MODLI. SCHOOI.

(Continued from page 531.)

miustes cack.

I.—1f to my age you add three-fifths of it,
and 15§ years, the sum will be 39 years; find
my age.  Value 8.

IT..~1fow many yards of carpet, 27 inches
wide, will cover a floor 18 fect 9 inches long
and 12 feet wide? Value 1o.

ITL,—Three-fourths of 56 is seven-cighths
of haw many times 162 Value 1o,

IV.-—~When $400 is paid for 25 acres of
land, what will 1 acre 1 rod cost? Value 8.

V.~8quare 15, subtract 25, divide by
50, multiply by 225, extract the square voot,
add 34, extract the square root and muhtiply
by 250. ValueS.

VI.—Find the value of jour-Rfths of 63,
mirus three-sevenths of 14, plus five-cighths
of seven-tenths of 2, and two-sevenths, minus

twenty-five forty seconds of twelve-fifths plus

8. Value 12.

V1IL.—A pile of wood 64 fect long, 6 fee
wide and six feet high, sells for $72, what is
the price per cord?- Value 10.

VIt.—How many boxes, each 9 inches
long, 6 inches wide, and 3 inches deep, can
b¢ packed in a cubic yard?

Hygtenes~Time, one hour.

I.—Describe and explain the fungtions of
the organs of respiration in man, Value 3.
1I.—In what respect does theair breathed
out from the lungs differ froma common ate
mospherig air? Value 5. )
I11.—Point out the different ways it which
the zi'r,of' the schqol-roam i5 rendered impure,
and the best plan of ventilating it. Value 5.
1V.—What 'i8 the difference between an
astery. and .a veip? > Bpetween axteriak and
venousblood? Explain the fungtions:of the
heart, -arteriey;, and, veips, in.the.cizgulation
of the.blogd:,, Valug.10; -

P N I NG

. the health.
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V.=Glve renenns for thinking that excr-
cine i nceespary, and penerally beneficial to
Vahie §.

VI.—What is digestlon?  Explain brieily

* the changes that fond undergaes in the pro-
Mental Arithmnetic—Tin, from onc fo fwo |

cess of digestlan,  Value 0.

Vii.—Give briefl rules for preserving the

health of the teacher.  Value 10.

Arithmetie for Fonth Clacs,

. The sum of $90 is paid for a picce of.
work. A works alone 4 days, then with #
four days, and then with /# and € 6 days;
how should the money be divided ?
1L Reduce 457 10 6 places of deci-

3.64285 71

, mals,

TI1. T spend .007 x 40 of my moncy and
find that the remainder is $90; what was

the original sum?

IV. A can do as much work in 6 days as
& can in 5 days; together they do a picce
work in g0 days. How long would it take
each by himself?

V. Requited the cost of papering the walls
of a room 18 fi. 9 in. long by 14 ft. 6 in.
wide, ahd 10 ft. high, at 20 cents per roll of
5 yards, allowing for two windows cach 6 ft.
by 44 ft., a door 6} ft. by 5 ft., and the ciher
parts of the wondwork, which arc equal 1o
¢4 of the remaining surface. The-pdper is
two feet wide.

VI. A man spends £50 in buying eggs at
1134, per dozen, and sclls them at 24. each ;
how much does he gain?

Vil. How many bricks 9 inches Tong, g
inches wide, arid 3 inches thick, will be res
quired to bud a wall 6o féet long, 8 fedt
high, atd 2} feet thick, allowing fot two
doors, each 6 feet by 4 feet, thenortar being
equil to Yy of the remsining wall? &

VITL' § of x viumber exceeds § of ¥ of ¥
by 26; find the number.

t {23 B !‘Sf
1 { - 3Q 9
' X' ’SImpllfy ‘————-} TETEaTYS 23}
X- Muh:ply +28175'by 448 dnd divide !hc
reslh by 00037 .. Lot henvoey



